BTS SIO1

Corrigés d'exercices sur les fonctions

P. Vairé

Lycée Carcouét

18 novembre 2020



Exercice 8.1

(f(l) =5 f{-") =7 Cpr) = c?.)LJ.;
L AR k& o g
o{,?(ér—cnu_o&w«. -Z_(_/,)’}” e
Peay=§ sednb axz +b- 5 |
YL"‘Z‘ +L= s J
b-¢_4
L.#
7

{ = %xwi Lo




Exercice 8.2
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Exercice 8.3
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Exercice 8.4
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Exercice 8.5
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Exercice 8.5 (suite)
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Exercice 8.6
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Exercice 8.6 (suite)
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Exercice 8.6 (suite)
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Exercice 8.9
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Exercice 8.9 (suite)
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Exercice 8.9 (suite)
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Exercice 8.10
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Exercice 8.10 (suite)
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Exercice 8.11
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Exercice 8.11 (suite)
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